
���������	�
� �
���	 �����������

������������������� �!"#� $%&'(')**+,-./01234567�89:;<�=>�9;>?6=�7�>5��@A9:�8;A��>9�
?6�=B�A
67��9A�?9C�A�>5���
>��9D�>5��@
>69�A
6?�E6>�6=�>5��:?97�8�@976>69=�FGH3IJ-/1K3L./3MNOPQ�45���
>69��
6?�R6>�<�75�@
=�?7�
A��A�<9��8�D9A��67;
?�:?
A6>S��
676=��9A�?9C�A6=��>5���
>��9D�>5��@
>69�A
6?�E6>�TU� V=:��>5��768��A
6?7�WX6���	YZ�
A��A
67�8�
=8�@6==�8�6=>9�@?
:�B�<9���>5���
>��@
=�?7�WX6���	[Z�6=>9�>5��:?97�8�@976>69=�\U� �?
:��>5��?�D>�9A�A6�5>��
>�]7�D99>�WX6���
YZ�6=>9�>5��E��@�A�̂
7���WX6���
[Z
O_3�̀abcOdNMe�2Jfg1h�Gg1i3�j2�G�2jkl�I_GI�G�2GH3IJ�/j2m�j2�jli1hi3L�GlL�fGJ�KG.23�03/21lGh�jln./J�GlLo1/�0/1L.KI�1/�0/103/IJ�LGfGk3�jH�l1I�2GH3hJ�GL_3/3L�I1�GlL�pjI_jl�I_3�0G/Gf3I3/2�23I�H1/I_�jl�I_j2�L1K.f3lIq1ijlk�0G/I2�KGl�0jlK_r�K/.2_r�1/�K.IU�s330�Kh3G/�GI�Ghh�Ijf32U
tU� Y8u;7>�>5��@
=�?�C6>5�>5��D99>�6=�>5��̂
7�B�>9�
�?9C�A�8�9A�A
67�8�@976>69=�̂S�7?686=��>5��@
=�?�WX6����YZ��;@�9A�89C=�
>�>5��56=��]7�WX6����[Z�vU� �?
:��>5��9@@976>��768��9D�>5���
>�]7�D99>�WX6����YZ�6=>9�>5��E��@�A�̂
7��WX6����[Z�����

wjkU�T� wjkU�\�
wjkU�t� wjkU�v�

bb x x xb
b xx bx



���������	�
� �
���
 �����������

�������������������� �!"#� $%&'(')**+,

-.�
�./0012�3�45�
�634
7�
33
8�45�92�918��:�2:��3�7�;4<04:�:=.�2:�=9��3�;3�
=24:�
:7�=3
:.043=
=24:�0347/;=�<
3>�=.?�.
5�=8?��7/;
=24:�
:7�;/.=4<�3�.
=2.5
;=24:�
3��4/3�032<
38�;4:;�3:.��@94/17�84/�9
���
:8�A/�.=24:.?�01�
.��74�:4=�9�.2=
=��=4�;4:=
;=�/.�
=���
�BC��D�E�F��
���G�G�G�H�43�68��<
21�
=�;/.=4<�3.�3�2;�I1;2	�;4<���@�15�9�10�=20.?�=�;9:2;
1�74;/<�:=.?�0347/;=��27�4.�
:7�
�=3
2:2:��;1
..�.;9�7/1��
3��
�
21
61��
=�1200�3=�;4<�43�68�74J:14
72:��=9��B200�3=KLM�
00�

NO� ��0�
=�.=�0���543�=9��4004.2=��.27��45�=9���
=��PO� Q
>��./3��=9��1�5=�
:7�32�9=�.27�.�45�=9���
=��
3��
12�:�7�
:7�
=�=9��7�.23�7�04.2=24:�RO� C:.�3=�
:7�=2�9=�:�=9��=J4�.;3�J�>:46.�FS2�.���-�
:7��-H�2:=4�=9���
=��;4/01�3.�FS2�.���T�
:7��TH��=4�9417�2:=4�=9���
=��0
:�1.�
=�=9��7�.23�7�04.2=24:�UVWXY��4�:4=�4��3=2�9=�:�=9��>:46�6�;
/.��=9���
=��:��7.�=4�.127��/0�
:7�74J:�J9�:��42:��2:=4�=9��;14.�7�04.2=24:�Z[\O�N� Z[\O�P�] ]^ ^Z[\O�R�UVWXY�S2�/3��G�7�02;=.�=9��0
=24�3
21�>2=�;14.�7�
:7�14;>�7�2:�=9��7�.23�7�04.2=24:�


